Section Two: Data interpretation/Short response 50% (50 Marks)

This section has four (4) questions. Answer all questions. Write your answers in the spaces
provided.

Spare pages are included at the end of this booklet. They can be used for planning your

responses and/or as additional space if required to continue an answer.

e Planning: If you use the spare pages for planning, indicate this clearly at the top of the page.

e Continuing an answer: If you need to use the space to continue an answer, indicate in the
original answer space where the answer is continued, i.e. give the page number. Fill in the
number of the question(s) that you are continuing to answer at the top of the page.

Suggested working time for this section is 90 minutes.

Question 31 (15 marks)

Question 31 refers to the information below.

Australia will increase the excise tax on tobacco by 25 per cent from Friday to raise $5 billion in budget
revenue over the next four years, Prime Minister Kevin Rudd has said. A government statement says
the changes will cut tobacco consumption by six per cent and the number of smokers by two or three
per cent — about 87,000 Australians. The 25 per cent tax increase will mean an increase of about $2 for
a pack of 30, and all of the extra revenue will be directly invested in healthcare, Mr Rudd said in a
statement. “Cigarette price increases have been shown to be effective in cutting smoking, especially
among young people who are particularly sensitive to price,” he said. The federal government has also
confirmed it will force tobacco companies to use plain packaging from July 1, 2012. It will ban logos,

images, colours and promotional words from cigarette boxes.
28" April 2010

(a) Outline two reasons why ‘young people are particularly sensitive to changes in price’. (2 marks)
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(b) Explain the likely impact of the plain packaging legislation on the position and slope of
the demand curve for cigarettes. (2 marks)
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(c) Smoking causes negative consumption externalities. Use the diagram below to illustrate

this concept and explain what you have drawn. (5 marks)
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(d) On the diagram below, draw a new curve which shows the effect of the increase in tax of
$2 per packet. Discuss the effects of the imposition of the tax.
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Question 32 (15 marks)

Refer to the table below to answer the following questions.

PPC AlB{€|D|ETF| @
combinations
DVD player |42 140363022120
MP3 player 0 4 [10]18 |28 |40 |54

the opportunity cost is 10 dvd ployen

L3

(a) When the economy moves form point B to point D: /

the opportunity gained is 5 HP3 5:>ia41a>‘
(2 mark)

(b) Explain why the opportunity cost increases as we move along the curve from Point A to
Point G. (4 marks)
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(c) Explain how both an in in the production of both products and an underutilisation of
resources can occur in the PPC model. Label these two situations on the model below.

2 (4 marks)
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(d) Using the data above, explain how the production possibility curve/frontier model helps to
illustrate the economic problem and the concept of opportunity cost. (5 marks)
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Question 33 (10 marks)

What is an emissions trading scheme?

Australians citizens — along with business groups, industries and unions — want action on climate
change. This means that we must put a limit on how much greenhouse pollution we pump out.
Governments, industry and environment groups agree that one of the best ways to do this is through a

carbon emissions trading scheme.

Rather than putting a greenhouse pollution limit on each factory, power station or car, under carbon
frading there is one national limit, known as a cap. The national cap is then divided into individual
permits, which businesses and organisations can buy (some are initially issued free to various

industries).

If a company wants to emit a tonne of greenhouse pollution they will need to have a greenhouse permit.
These permits cost money. So, just as you would pay to dispose of a trailer-load of rubbish at the tip,
big companies will pay to deposit a tonne of greenhouse pollution into the atmosphere.
Most importantly, there is a set number of national greenhouse permits available and, correspondingly,
a limit on the total amount of pollution permitted.
The term ‘trading’ when applied to carbon emissions refers to companies’ ability to buy and sell their
greenhouse permits. This is why carbon trading is sometimes referred to as ‘cap and trade’.

http://www.acfonline.org.au/articles/news.asp?news id=1817 accessed 5/05/09

(a) Identify a negative externality mentioned in the article. (1 mark) @
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(b) Define market failure (1 marks)
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(c) Explain the concept of externalities, both positive and negative. (3 marks)
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(d) Use the demand and supply model to explain the effects of a negative production
externality. <1 (5 marks)
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Question 34

(10 marks)
The followin

g table depicts the weekly demand and supply for wi

ne in Western Australia:

(a) What is the equilibrium price and quantity of wine? /(1 mark)
(b) Complete columns 4 and 5 in the table. (2 marks)
© \What is the total Consumer Surplus? _ikoed >/

ii) What is the total Producer Surplus? o L O S (1 mark)

The Government decides to impose a price floor for wine of $13.00 per bottle.
(d)

Give a reason as to why the Government might impose this price floor.

(1 mark)




(e) Use the grid below to illustrate the economic con isi i
: ‘ _ sequences of the decisio
price floor on wine. Discuss what you have drawn. " ’E(% I::;Dﬁ(s; :
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